


Look at the sentences.

He is wearing a grey hat.
He is wearing a purple
shirt.

He is wearing green
Trousers.

He is wearing one boot!



This is Pete.
He's a pirate.

a grey hat

a purple shirt
green frousers

one boot



This is Princess Tess.

She is wearing a gold crown.

She is wearing



This is Boo The Clown.
Look at the sentences.

True or false?

1. He is wearing a hat. FALSE

2. He is wearing green

trousers. TRUE
& 7 3. Heis wearing red shoes. TRUE

4. He is wearing little

shoes. FALSE
5. He is wearing a purple shirt.  TRUE



This is Lucy.

She's a footballer.
Look at the sentences.

True or false?
1. She is wearing shorts. FALSE

2. She is wearing blue
shoes. TRUE

3. She is wearing black
trousers.  TRUE

4. She is wearing a
tracksuit. FALSE

5. She is wearing a red t-shirt. FALSE



This is Cowboy Tex.

¢y Look at the questions.

Is he wearing a red hat?
Yes, he is.

Is he wearing a tracksuit?
No, he isn't.

e wearing blue frousers?
Yes, he is.

Is he wearing grey boots?
No, he isn't.



This is Wendy.

, . Answer the questions.
She's a witch.

1. Is she wearing a big hat?
Yes, she is.

2. Is she wearing a skirt?
No, she isn't.

3. Is she wearing trousers?

No, she isn't.

. Is she wearing a black

dress?
Yes, she is.

5. Is she wearing green shoes?
No, she isn't.



